

Some Binomial Sums of k -Pell, k -Pell-Lucas and Modified k -Pell Numbers

A. D. GODASE 

V. P. College Vaijapur

Department of Mathematics

Chhatrapati Sambhajanagar (MS), Maharashtra, INDIA

Abstract: The main goal of this paper is to find some new identities containing k -Pell and k -Pell-Lucas numbers. In addition, we use these identities to prove binomial properties of k -Pell, k -Pell-Lucas, and modified k -Pell numbers. It is possible to prove some new properties of k -Pell, k -Pell-Lucas and modified k -Pell numbers based on the obtained results. The generated functions can also be expressed in closed form using them.

Key-Words: Pell Numbers, Pell-Lucas Numbers, k -Pell Numbers, k -Pell-Lucas Numbers.

Received: May 16, 2024. Revised: October 17, 2024. Accepted: November 19, 2024. Published: December 30, 2024.

1 Introduction

The Fibonacci sequence is one of the most renowned and exceptional integer sequence in number theory and has been regularly studied in different branches of mathematics. There is the Pell number, which is as crucial as the Fibonacci number. Like the Fibonacci number, the Pell number can also be generalized by changing recurrence relations, initial conditions or the two of them. One particular example of Pell number is k -Pell and k -Pell-Lucas numbers. In last few years, different authors studied Pell and Pell-Lucas numbers, see [14, 11, 10, 2, 1, 13]

In recent years, many researchers have engaged in the study of the generalizations of specific sequences of positive integers. In particular, the study of the k -Pell sequence, the k -Pell-Lucas sequence, and the modified k -Pell sequence, see [4, 7, 9, 5, 8, 15].

The purpose of this paper is to examine some properties of the k -Pell, k -Pell-Lucas, and modified k -Pell numbers. All three k -Pell numbers, k -Pell-Lucas and modified k -Pell numbers are generalizations of the Pell numbers, which are used to calculate area of cycloid. Binomial properties of these numbers help us to understand their behaviour and applications.

Definition 1.1. (Catarino [4]). The k -Pell numbers satisfy the recurrence relation $\rho_{k,n+1} = 2\rho_{k,n} + k\rho_{k,n-1}$, for $n \geq 1$ with $\rho_{k,0} = 0$

and $\rho_{k,1} = 1$.

Definition 1.2. (Catarino [4]). The k -Pell-Lucas numbers satisfy the recurrence relation $q_{k,n+1} = 2q_{k,n} + kq_{k,n-1}$, for $n \geq 1$ with $q_{k,0} = 2$ and $q_{k,1} = 2$.

Definition 1.3. (Catarino [6]). The modified k -Pell numbers satisfy the recurrence relation $\xi_{k,n+1} = 2\xi_{k,n} + k\xi_{k,n-1}$, for $n \geq 1$ with $\xi_{k,0} = 1$ and $\xi_{k,1} = 1$.

The Binet formula of $\rho_{k,n}$, $q_{k,n}$ and $\xi_{k,n}$ is given by (Catarino [6])

$$\rho_{k,n} = \frac{\zeta_1^n - \zeta_2^n}{\zeta_1 - \zeta_2}, \quad (1)$$

$$q_{k,n} = \zeta_1^n + \zeta_2^n, \quad (2)$$

$$\xi_{k,n} = \frac{\zeta_1^n - \zeta_2^n}{2}. \quad (3)$$

The characteristic roots ζ_1 and ζ_2 appeared in (1), (2) and (3) satisfy the following relations (Catarino [6]):

$$\zeta_1 = 1 + \sqrt{1+k}, \quad (4)$$

$$\zeta_2 = 1 - \sqrt{1+k}, \quad (5)$$

$$\zeta_1 - \zeta_2 = 2\sqrt{1+k} = 2\sqrt{\delta}, \quad (6)$$

$$\zeta_1 + \zeta_2 = 2, \quad (7)$$

$$\zeta_1 \zeta_2 = -k, \quad (8)$$

$$\zeta_1^2 = 2\zeta_1 + k \quad (9)$$

$$\zeta_2^2 = 2\zeta_2 + k \quad (10)$$

For $k = 1$, the k -Pell number converts into a well-known Pell number. These numbers are the source of many fascinating properties. In the last few years, many authors devoted in the studies of these numbers, see [4, 7, 9, 5, 8, 15, 6, 12] and the references cited in there. Some of these identities are listed below.

Lemma 1.1. (Catarino [6]). Let $n, m \in \mathbb{Z}^+$. Then

$$(1) \quad \rho_{k,n+1} + k\rho_{k,n-1} = q_{k,n}, \quad (11)$$

$$(2) \quad \rho_{k,n+1} - \rho_{k,n} = \xi_{k,n}, \quad (12)$$

$$(3) \quad q_{k,n} + kq_{k,n-1} = 2\rho_{k,n}(1+k), \quad (13)$$

$$(4) \quad \rho_{k,n-r}\rho_{k,n+r} - \rho_{k,n}^2 = -(-k)^{n-r}, \quad (14)$$

$$(5) \quad \rho_{k,n-1}\rho_{k,n+1} - \rho_{k,n}^2 = -(-k)^{n-1}, \quad (15)$$

$$(6) \quad q_{k,n-1}q_{k,n+1} - q_{k,n}^2 = 4(-k)^{n-1}(1+k). \quad (16)$$

Carlitz [3] in 1970 formulated distinct Fibonacci and Lucas identities. In the year 1997, Zhang [16] established varied identities for second-order integer sequences. Motivated necessarily by the above-cited works, we focus on investigating various binomial sums for the numbers $\rho_{k,n}$, $q_{k,n}$ and $\xi_{k,n}$.

2 Binomial Identities Involving $\rho_{k,n}$, $q_{k,n}$ and $\xi_{k,n}$

We aim here to obtain some essential identities involving $\rho_{k,n}$ and $q_{k,n}$ numbers. In this section, we formulate some binomial sums for $\rho_{k,n}$, $q_{k,n}$ and $\xi_{k,n}$. First, we prove the Lemma 2.1 which plays a crucial role in the proofs of the Theorems 2.1 to 2.5.

Lemma 2.1. Let $u = \zeta_1$ or ζ_2 . Then

$$(a) \quad u^n = u\rho_{k,n} + k\rho_{k,n-1}, \quad (17)$$

$$(b) \quad u^{2n} = u^n q_{k,n} - (-k)^n, \quad (18)$$

$$(c) \quad u^{tn} = u^n \frac{\rho_{k,tn}}{\rho_{k,n}} - (-k)^n \frac{\rho_{k,(t-1)n}}{\rho_{k,n}}, \quad (19)$$

$$(d) \quad u^{sn}\rho_{k,sn} - u^{rn}\rho_{k,sn} = (-k)^{sn}\rho_{k,(r-s)n}. \quad (20)$$

Proof. We apply P. M. I. on n to prove (a). For $n = 2$, we have from (9) and (10)

$$\zeta_1^2 = \zeta_1\rho_{k,2} + k\rho_{k,1},$$

$$\zeta_2^2 = \zeta_2\rho_{k,2} + k\rho_{k,1}.$$

Now consider that the result is true for n . Thus, we have

$$\zeta_1^n = \zeta_1\rho_{k,n} + k\rho_{k,n-1}, \quad (21)$$

$$\zeta_2^n = \zeta_2\rho_{k,n} + k\rho_{k,n-1}. \quad (22)$$

Moreover, by applying (9) and (21), we achieve

$$\begin{aligned} \zeta_1^{n+1} &= \zeta_1\zeta_1^n \\ &= \zeta_1(\zeta_1\rho_{k,n} + k\rho_{k,n-1}) \\ &= \zeta_1^2\rho_{k,n} + k\zeta_1\rho_{k,n-1} \\ &= (2\zeta_1 + k)\rho_{k,n} + k\zeta_1\rho_{k,n-1} \\ &= (2\rho_{k,n} + k\rho_{k,n-1})\zeta_1 + k\rho_{k,n} \\ &= \rho_{k,n+1}\zeta_1 + k\rho_{k,n}. \end{aligned}$$

Similarly, we can prove that

$$\zeta_2^{n+1} = \zeta_2\rho_{k,n+1} + k\rho_{k,n}.$$

Thus the proof of (a).

(b) By using the result (a), we can write

$$\begin{aligned} u^{2n} &= \rho_{k,n}u^{n+1} + ku^n\rho_{k,n-1} \\ &= \rho_{k,n}(u\rho_{k,n+1} + k\rho_{k,n}) + ku^n\rho_{k,n-1} \\ &= u\rho_{k,n}\rho_{k,n+1} + k\rho_{k,n-1}u^n + k\rho_{k,n}^2 \\ &= (u^n - k\rho_{k,n-1})\rho_{k,n+1} + k\rho_{k,n-1}u^n + k\rho_{k,n}^2 \\ &= u^n(\rho_{k,n+1} + k\rho_{k,n-1}) + k(\rho_{k,n}^2 - \rho_{k,n+1}\rho_{k,n-1}). \end{aligned}$$

At last, by applying (11) and (15), we achieve

$$u^{2n} = q_{k,n}u^n - (-k)^n.$$

(c) Let $u = \zeta_1$. By employing the Binet formula of $\rho_{k,n}$, we can write

$$\begin{aligned} &\zeta_1^n \frac{\rho_{k,tn}}{\rho_{k,n}} - (-k)^n \frac{\rho_{k,(t-1)n}}{\rho_{k,n}} \\ &= \frac{1}{\rho_{k,n}} \left\{ \left(\frac{\zeta_1^{tn} - \zeta_2^{tn}}{\zeta_1 - \zeta_2} \right) \zeta_1^n - (\zeta_1\zeta_2)^n \left(\frac{\zeta_1^{(t-1)n} - \zeta_2^{(t-1)n}}{\zeta_1 - \zeta_2} \right) \right\} \\ &= \frac{1}{\rho_{k,n}} \left\{ \frac{\zeta_1^{tn}\zeta_1^n - \zeta_2^{tn}\zeta_1^n - \zeta_2^n\zeta_1^{tn} + \zeta_1^n\zeta_2^{tn}}{\zeta_1 - \zeta_2} \right\} \\ &= \frac{1}{\rho_{k,n}} \left\{ \frac{\zeta_1^{tn}(\zeta_1^n - \zeta_2^n)}{\zeta_1 - \zeta_2} \right\} \\ &= \frac{1}{\rho_{k,n}} (\zeta_1^{tn}\rho_{k,n}) \\ &= \zeta_1^{tn}. \end{aligned}$$

Similarly, if $u = \zeta_2$ then, we get the desired result. The proof of (d) is analogous to (c). Hence, we discard the proof. $\square$

Theorem 2.1. Let $n, r, s, t \in \mathbb{Z}^+$ with $t \geq 1$. Then prove that

- (1) $\rho_{k,n+t} = \rho_{k,n}\rho_{k,t+1} + k\rho_{k,n-1}\rho_{k,t}$,
- (2) $q_{k,n+t} = \rho_{k,n}q_{k,t+1} + k\rho_{k,n-1}q_{k,t}$,
- (3) $\xi_{k,n+t} = \rho_{k,n}\xi_{k,t+1} + k\rho_{k,n-1}\xi_{k,t}$,
- (4) $\rho_{k,2n+t} = q_{k,n}\rho_{k,n+t} - (-k)^n\rho_{k,t}$,
- (5) $q_{k,2n+t} = q_{k,n}q_{k,n+t} - (-k)^nq_{k,t}$,
- (6) $\xi_{k,2n+t} = q_{k,n}\xi_{k,n+t} - (-k)^n\xi_{k,t}$,
- (7) $\rho_{k,sn+t}\rho_{k,n} = \rho_{k,sn}\rho_{k,n+t} - (-k)^n\rho_{k,(s-1)n}\rho_{k,t}$,
- (8) $q_{k,sn+t}\rho_{k,n} = \rho_{k,sn}q_{k,n+t} - (-k)^n\rho_{k,(s-1)n}q_{k,t}$,
- (9) $\xi_{k,sn+t}\rho_{k,n} = \rho_{k,sn}\xi_{k,n+t} - (-k)^n\rho_{k,(s-1)n}\xi_{k,t}$,
- (10) $\rho_{k,sn+t}\rho_{k,rn} - \rho_{k,rn+t}\rho_{k,sn} = (-k)^{sn}\rho_{k,t}\rho_{k,(r-s)n}$,
- (11) $q_{k,sn+t}\rho_{k,rn} - q_{k,rn+t}\rho_{k,sn} = (-k)^{sn}q_{k,t}\rho_{k,(r-s)n}$,
- (12) $\xi_{k,sn+t}\rho_{k,rn} - \xi_{k,rn+t}\rho_{k,sn} = (-k)^{sn}\xi_{k,t}\rho_{k,(r-s)n}$.

Proof. The proofs of (2) to (12) are analogous to (1). Hence, we prove the result (1). Applying the Lemma 2.1(a), we can write

$$\zeta_1^n = \rho_{k,n}\zeta_1 + k\rho_{k,n-1}, \quad (23)$$

$$\zeta_2^n = \rho_{k,n}\zeta_2 + k\rho_{k,n-1}. \quad (24)$$

Now, by multiplying (23) by $\frac{\zeta_1^t}{\zeta_1 - \zeta_2}$, (24) by $\frac{\zeta_2^t}{\zeta_1 - \zeta_2}$ and subtracting, we achieve

$$\frac{\zeta_1^{n+t} - \zeta_2^{n+t}}{\zeta_1 - \zeta_2} = \rho_{k,n} \left(\frac{\zeta_1^{t+1} - \zeta_2^{t+1}}{\zeta_1 - \zeta_2} \right) + k\rho_{k,n-1} \left(\frac{\zeta_1^t - \zeta_2^t}{\zeta_1 - \zeta_2} \right).$$

In conclusion, by employing the Binet formula of $\rho_{k,n}$, we get

$$\rho_{k,n+t} = \rho_{k,n}\rho_{k,t+1} + k\rho_{k,n-1}\rho_{k,t}.$$

Thus the proof of result (1). □

Theorem 2.2. Let $n, r, s, t \in \mathbb{Z}^+$ with $t \geq 1$. Then

- (1) $\rho_{k,rn+t} = \sum_{i=0}^n \binom{n}{i} k^{n-i} \rho_{k,r}^i \rho_{k,r-1}^{n-i} \rho_{k,i+t}$,
- (2) $q_{k,rn+t} = \sum_{i=0}^n \binom{n}{i} k^{n-i} \rho_{k,r}^i \rho_{k,r-1}^{n-i} q_{k,i+t}$,
- (3) $\xi_{k,rn+t} = \sum_{i=0}^n \binom{n}{i} k^{n-i} \rho_{k,r}^i \rho_{k,r-1}^{n-i} \xi_{k,i+t}$,
- (4) $\rho_{k,n+t}\rho_{k,r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} k^{n-i} \rho_{k,r-1}^{n-i} \rho_{k,ri+t}$,
- (5) $q_{k,n+t}\rho_{k,r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} k^{n-i} \rho_{k,r-1}^{n-i} q_{k,ri+t}$,
- (6) $\xi_{k,n+t}\rho_{k,r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} k^{n-i} \rho_{k,r-1}^{n-i} \xi_{k,ri+t}$,
- (7) $\rho_{k,t}\rho_{k,r-1}^n = \frac{1}{k^n} \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} \rho_{k,r}^{n-i} \rho_{n+(r-1)i+t}$,
- (8) $q_{k,t}\rho_{k,r-1}^n = \frac{1}{k^n} \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} \rho_{k,r}^{n-i} q_{n+(r-1)i+t}$,
- (9) $\xi_{k,t}\rho_{k,r-1}^n = \frac{1}{k^n} \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} \rho_{k,r}^{n-i} \xi_{n+(r-1)i+t}$.

Proof. Starting with the Lemma 2.1(a), we have

$$\zeta_1^r = \rho_{k,r}\zeta_1 + k\rho_{k,r-1},$$

$$\zeta_2^r = \rho_{k,r}\zeta_2 + k\rho_{k,r-1}.$$

By making use of the binomial theorem, we get

$$\zeta_1^{rn} = \sum_{i=0}^n \binom{n}{i} k^{(n-i)} \rho_{k,r}^i \rho_{k,r-1}^{n-i} \zeta_1^i, \quad (25)$$

$$\zeta_2^{rn} = \sum_{i=0}^n \binom{n}{i} k^{(n-i)} \rho_{k,r}^i \rho_{k,r-1}^{n-i} \zeta_2^i. \quad (26)$$

Moreover, by multiplying an equation (25) by $\frac{\zeta_1^t}{\zeta_1 - \zeta_2}$, equation (26) by $\frac{\zeta_2^t}{\zeta_1 - \zeta_2}$ and subtracting, we obtain

$$\frac{\zeta_1^{rn+t} - \zeta_2^{rn+t}}{\zeta_1 - \zeta_2} = \sum_{i=0}^n \binom{n}{i} k^{(n-i)} \rho_{k,r}^i \rho_{k,r-1}^{n-i} \left(\frac{\zeta_1^{i+t} - \zeta_2^{i+t}}{\zeta_1 - \zeta_2} \right).$$

Finally, using the Binet formula of $\rho_{k,n}$, we get the required result

$$\rho_{k,rn+t} = \sum_{i=0}^n \binom{n}{i} k^{(n-i)} \rho_{k,r}^i \rho_{k,r-1}^{n-i} \rho_{k,i+t}.$$

Again, by multiplying equation (25) by ζ_1^t , (26) by ζ_2^t and adding, we achieve

$$\zeta_1^{rn+t} + \zeta_2^{rn+t} = \sum_{i=0}^n \binom{n}{i} k^{(n-i)} \rho_{k,r}^i \rho_{k,r-1}^{n-i} (\zeta_1^{i+t} + \zeta_2^{i+t}).$$

Furthermore, by applying the Binet formula of $q_{k,n}$, we get

$$q_{k,rn+t} = \sum_{i=0}^n \binom{n}{i} k^{(n-i)} \rho_{k,r}^i \rho_{k,r-1}^{n-i} q_{k,i+t}.$$

Thus, the result (2).

The proof of (3)-(9) is similar to (1) and (2). Hence, we discard the proof. $\square$

Theorem 2.3. If $n, r, s, t \in \mathbb{Z}^+$ with $t \geq 1$ then

$$(1) \quad \rho_{k,2rn+t} = \sum_{i=0}^n \binom{n}{i} (-1)^{(r+1)(n-i)} k^{r(n-i)} q_{k,r}^i \rho_{k,ri+t},$$

$$(2) \quad q_{k,2rn+t} = \sum_{i=0}^n \binom{n}{i} (-1)^{(r+1)(n-i)} k^{r(n-i)} q_{k,r}^i q_{k,ri+t},$$

$$(3) \quad \zeta_{k,2rn+t} = \sum_{i=0}^n \binom{n}{i} (-1)^{(r+1)(n-i)} k^{r(n-i)} q_{k,r}^i \zeta_{k,ri+t},$$

$$(4) \quad \rho_{k,rn+t} q_{k,r}^n = \sum_{i=0}^n \binom{n}{i} (-k)^{r(n-i)} \rho_{k,2ri+t},$$

$$(5) \quad q_{k,rn+t} q_{k,r}^n = \sum_{i=0}^n \binom{n}{i} (-k)^{r(n-i)} q_{k,2ri+t},$$

$$(6) \quad \zeta_{k,rn+t} q_{k,r}^n = \sum_{i=0}^n \binom{n}{i} (-k)^{r(n-i)} \zeta_{k,2ri+t},$$

$$(7) \quad \rho_{k,t} (-k)^{rn} = \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} q_{k,r}^i \rho_{k,(2n-i)r+t},$$

$$(8) \quad q_{k,t} (-k)^{rn} = \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} q_{k,r}^i q_{k,(2n-i)r+t},$$

$$(9) \quad \zeta_{k,t} (-k)^{rn} = \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} q_{k,r}^i \zeta_{k,(2n-i)r+t}.$$

Proof. By using the Lemma 2.1(b), we rewrite

$$\begin{aligned} \zeta_1^{2r} &= \zeta_1^r q_{k,r} - (-k)^r, \\ \zeta_2^{2r} &= \zeta_2^r q_{k,r} - (-k)^r. \end{aligned}$$

By making use of the binomial theorem, we get

$$\zeta_1^{2rn} = \sum_{i=0}^n \binom{n}{i} (-1)^{(r+1)(n-i)} q_{k,r}^i \zeta_1^{ri} (k)^{r(n-i)}, \quad (27)$$

$$\zeta_2^{2rn} = \sum_{i=0}^n \binom{n}{i} (-1)^{(r+1)(n-i)} q_{k,r}^i \zeta_2^{ri} (k)^{r(n-i)}. \quad (28)$$

Multiplying an equation (27) by $\frac{\zeta_1^t}{\zeta_1 - \zeta_2}$, equation (28) by $\frac{\zeta_2^t}{\zeta_1 - \zeta_2}$ and subtracting, we obtain

$$\frac{\zeta_1^{2rn+t} - \zeta_2^{2rn+t}}{\zeta_1 - \zeta_2} = \sum_{i=0}^n \binom{n}{i} q_{k,r}^i (-1)^{(n-i)(r+1)} k^{r(n-i)} \left(\frac{\zeta_1^{ri+t} - \zeta_2^{ri+t}}{\zeta_1 - \zeta_2} \right).$$

Now, using the Binet formula of $\rho_{k,n}$, we achieve

$$\rho_{k,2rn+t} = \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)(r+1)} k^{r(n-i)} q_{k,r}^i \rho_{k,ri+t}.$$

Thus the result (1).

Moreover, by multiplying equation (27) by ζ_1^t , (28) by ζ_2^t and adding, we get

$$\zeta_1^{2rn+t} + \zeta_2^{2rn+t} = \sum_{i=0}^n \binom{n}{i} q_{k,r}^i (-1)^{(n-i)(r+1)} k^{r(n-i)} (\zeta_1^{ri+t} + \zeta_2^{ri+t}).$$

Again, using the Binet formula of $q_{k,n}$, we obtain the desired result

$$q_{k,2rn+t} = \sum_{i=0}^n \binom{n}{i} q_{k,r}^i (-1)^{(n-i)(r+1)} 2^{r(n-i)} q_{k,ri+t}.$$

Hence the proof of result (2).

The proofs of (3)-(6) are analogous to (1) and (2). Hence, we omit the proof. $\square$

Theorem 2.4. Let $n, r, s, t, l \in \mathbb{Z}^+$ with $t \geq 1$. Then

$$(1) \quad \rho_{k, trn+l} \rho_{k,r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(r+1)(n-i)} k^{r(n-i)} \rho_{k, tr}^i \rho_{k, (t-1)r}^{(n-i)} \rho_{k, ri+l},$$

$$(2) \quad \rho_{k, trn+l} \rho_{k,r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(r+1)(n-i)} k^{r(n-i)} \rho_{k, tr}^i \rho_{k, (t-1)r}^{(n-i)} \rho_{k, ri+l},$$

$$(3) \quad \zeta_{k, trn+l} \rho_{k,r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(r+1)(n-i)} k^{r(n-i)} \rho_{k, tr}^i \rho_{k, (t-1)r}^{(n-i)} \zeta_{k, ri+l},$$

$$(4) \quad \rho_{k, rn+l} \rho_{k, tr}^n = \sum_{i=0}^n \binom{n}{i} (-k)^{r(n-i)} \rho_{k, r}^i \rho_{k, (t-1)r}^{(n-i)} \rho_{k, tri+l},$$

$$(5) \quad \rho_{k, rn+l} \rho_{k, tr}^n = \sum_{i=0}^n \binom{n}{i} (-k)^{r(n-i)} \rho_{k, r}^i \rho_{k, (t-1)r}^{(n-i)} \rho_{k, tri+l},$$

$$(6) \quad \zeta_{k, rn+l} \rho_{k, tr}^n = \sum_{i=0}^n \binom{n}{i} (-k)^{r(n-i)} \rho_{k, r}^i \rho_{k, (t-1)r}^{(n-i)} \zeta_{k, tri+l},$$

$$(7) \quad (-k)^{rn} \rho_{k, l} \rho_{k, (t-1)r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)} \rho_{k, tr}^i \rho_{k, r}^{(n-i)} \rho_{k, ri+l},$$

$$(8) \quad (-k)^{rn} \rho_{k, l} \rho_{k, (t-1)r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)} \rho_{k, tr}^i \rho_{k, r}^{(n-i)} \rho_{k, ri+l},$$

$$(9) \quad (-k)^{rn} \zeta_{k, l} \rho_{k, (t-1)r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)} \rho_{k, tr}^i \rho_{k, r}^{(n-i)} \zeta_{k, ri+l}$$

Proof. By making use of the Lemma 2.1(c), we have

$$\zeta_1^{tr} = \zeta_1^r \frac{\rho_{k, tr}}{\rho_{k, r}} - (-k)^r \frac{\rho_{k, (t-1)r}}{\rho_{k, r}},$$

$$\zeta_2^{tr} = \zeta_2^r \frac{\rho_{k, tr}}{\rho_{k, r}} - (-k)^r \frac{\rho_{k, (t-1)r}}{\rho_{k, r}}.$$

Thanks to the binomial theorem. By making use

of it, we get

$$\zeta_1^{trn} = \frac{1}{\rho_{k, r}^n} \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)(r+1)} k^{r(n-i)} \rho_{k, tr}^i \zeta_1^{ri} \rho_{k, (t-1)r}^{(n-i)}, \quad (29)$$

$$\zeta_2^{trn} = \frac{1}{\rho_{k, r}^n} \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)(r+1)} k^{r(n-i)} \rho_{k, tr}^i \zeta_2^{ri} \rho_{k, (t-1)r}^{(n-i)}. \quad (30)$$

Now, by multiplying an equation (29) by $\frac{\zeta_1^l}{\zeta_1 - \zeta_2}$, equation (30) by $\frac{\zeta_2^l}{\zeta_1 - \zeta_2}$ and subtracting, we obtain

$$\frac{\zeta_1^{trn+l} - \zeta_2^{trn+l}}{\zeta_1 - \zeta_2} \rho_{k, r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)(r+1)} k^{r(n-i)} \rho_{k, tr}^i \rho_{k, (t-1)r}^{n-i} \left(\frac{\zeta_1^{ri+l} - \zeta_2^{ri+l}}{\zeta_1 - \zeta_2} \right).$$

Furthermore, by applying the Binet formula of $\rho_{k, n}$, we achieve the required result

$$\rho_{k, trn+l} \rho_{k, r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)(r+1)} k^{r(n-i)} \rho_{k, r}^i \rho_{k, (t-1)r}^{n-i} \rho_{k, ri+l}.$$

Thus the result (1).

Again, multiplying equation (29) by ζ_1^l , (30) by ζ_2^l and adding, we obtain

$$\zeta_1^{trn+l} + \zeta_2^{trn+l} = \frac{1}{\rho_{k, r}^n} \sum_{i=0}^n \binom{n}{i} \rho_{k, tr}^i \rho_{k, (t-1)r}^{n-i} (-1)^{(n-i)(r+1)} 2^{r(n-i)} (\zeta_1^{ri+l} + \zeta_2^{ri+l}).$$

Finally, by employing the Binet formula of $\rho_{k, n}$, we get the desired result

$$\rho_{k, trn+l} \rho_{k, r}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)(r+1)} k^{r(n-i)} \rho_{k, tr}^i \rho_{k, (t-1)r}^{n-i} \rho_{k, ri+l}.$$

This ends the proof of the result (2).

The proof of (3)-(6) is identical to (1) and (2). Hence, we omit the proof. $\square$

Theorem 2.5. If $n, r, s, t \in \mathbb{Z}^+$ with $t \geq 1$ then the

following identities hold

$$(1) \quad (-k)^{smn} \rho_{k,t} \rho_{k,(r-s)m}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)} \rho_{k,rm}^i$$

$$\rho_{k,sm}^{(n-i)} \rho_{k,smi+rm(n-i)+t}$$

$$(2) \quad (-k)^{smn} Q_{k,t} \rho_{k,(r-s)m}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)} \rho_{k,rm}^i$$

$$\rho_{k,sm}^{(n-i)} Q_{k,smi+rm(n-i)+t}$$

$$(3) \quad (-k)^{smn} \tilde{\zeta}_{k,t} \rho_{k,(r-s)m}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{(n-i)} \rho_{k,rm}^i$$

$$\rho_{k,sm}^{(n-i)} \tilde{\zeta}_{k,smi+rm(n-i)+t}$$

$$(4) \quad \rho_{k,rm}^n \rho_{k,smn+t} = \sum_{i=0}^n \binom{n}{i} (-k)^{sm(n-i)} \rho_{k,sm}^i$$

$$\rho_{k,(r-s)m}^{(n-i)} \rho_{k,rm i+t}$$

$$(5) \quad \rho_{k,rm}^n Q_{k,smn+t} = \sum_{i=0}^n \binom{n}{i} (-k)^{sm(n-i)} \rho_{k,sm}^i$$

$$\rho_{k,(r-s)m}^{(n-i)} Q_{k,rm i+t}$$

$$(6) \quad \rho_{k,rm}^n \tilde{\zeta}_{k,smn+t} = \sum_{i=0}^n \binom{n}{i} (-k)^{sm(n-i)} \rho_{k,sm}^i$$

$$\rho_{k,(r-s)m}^{(n-i)} \tilde{\zeta}_{k,rm i+t}$$

$$(7) \quad \rho_{k,sm}^n \rho_{k,rmn+t} = \sum_{i=0}^n \binom{n}{i} (-1)^{(sm+1)(n-i)}$$

$$k^{sm(n-i)} \rho_{k,rm}^i \rho_{k,(r-s)m}^{(n-i)} \rho_{k,smi+t}$$

$$(8) \quad \rho_{k,sm}^n Q_{k,rmn+t} = \sum_{i=0}^n \binom{n}{i} (-1)^{(sm+1)(n-i)}$$

$$k^{sm(n-i)} \rho_{k,rm}^i \rho_{k,(r-s)m}^{(n-i)} Q_{k,smi+t}$$

$$(9) \quad \rho_{k,sm}^n \tilde{\zeta}_{k,rmn+t} = \sum_{i=0}^n \binom{n}{i} (-1)^{(sm+1)(n-i)}$$

$$k^{sm(n-i)} \rho_{k,rm}^i \rho_{k,(r-s)m}^{(n-i)} \tilde{\zeta}_{k,smi+t}$$

Proof. Applying the Lemma 2.1(d), we can write

$$\zeta_1^{sm} \rho_{k,rm} - \zeta_1^{rm} \rho_{k,sm} = (-k)^{sm} \rho_{k,(r-s)m}$$

$$\zeta_2^{sm} \rho_{k,rm} - \zeta_2^{rm} \rho_{k,sm} = (-k)^{sm} \rho_{k,(r-s)m}$$

Thanks to the binomial theorem. By applying it,

we get

$$(-k)^{smn} \rho_{k,(r-s)m}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} \rho_{k,rm}^i \rho_{k,sm}^{n-i} \zeta_1^{smi+rm(n-i)}, \quad (31)$$

$$(-k)^{smn} \rho_{k,(r-s)m}^n = \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} \rho_{k,rm}^i \rho_{k,sm}^{n-i} \zeta_2^{smi+rm(n-i)}. \quad (32)$$

Further, multiplying an equation (31) by $\frac{\zeta_1^t}{\zeta_1 - \zeta_2}$,

equation (32) by $\frac{\zeta_2^t}{\zeta_1 - \zeta_2}$ and subtracting, we obtain

$$\begin{aligned} & (-k)^{smn} \rho_{k,(r-s)m}^n \left(\frac{\zeta_1^t - \zeta_2^t}{\zeta_1 - \zeta_2} \right) \\ &= \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} \rho_{k,rm}^i \rho_{k,sm}^{n-i} \left(\frac{\zeta_1^{smi+rm(n-i)+t} - \zeta_2^{smi+rm(n-i)+t}}{\zeta_1 - \zeta_2} \right). \end{aligned}$$

Finally, applying the Binet formula of $\rho_{k,n}$, we achieve the required result

$$(-k)^{smn} \rho_{k,(r-s)m}^n \rho_{k,t} = \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} \rho_{k,rm}^i \rho_{k,sm}^{n-i}$$

$$\rho_{k,smi+rm(n-i)+t}.$$

Again, by multiplying equation (31) by ζ_1^t , (32) by ζ_2^t and adding, we get

$$(-2)^{smn} \rho_{k,(r-s)m}^n Q_{k,t} = \sum_{i=0}^n \binom{n}{i} (-1)^{n-i} \rho_{k,rm}^i \rho_{k,sm}^{n-i} Q_{k,smi+rm(n-i)+t}$$

Thus the result (2).

The proof of (3) - (6) is analogous to the proof of (1) and (2). Hence, we omit the proof. $\square$

References:

- [1] C. Adegbindin, F. Luca and A. Togbe, Pell and Pell–Lucas numbers as sums of two rep-digits, *Bulletin of the Malaysian Mathematical Sciences Society*, **43**(02) (2020), 1253–1271. <https://doi.org/10.1007/s40840-019-00739-3>
- [2] A. Boussayoud, On some identities and generating functions for Pell-Lucas numbers, *J. Anal. Comb.*, **12**(01) (2017), 01–10. <https://hosted.math.rochester.edu/ojac/vol14/163.pdf>
- [3] L. Carlitz and H. Ferns, Some Fibonacci and Lucas Identities, *The Fibonacci Quarterly*, **8**(01) (1970), 61–73. <https://www.fq.math.ca/Issues/8-1.pdf>
- [4] P. Catarino, A note involving two-by-two matrices of the k -Pell and k -Pell-Lucas sequences, In *International Mathematical Forum* **08**(32) (2013), 1561–1568. <http://dx.doi.org/10.12988/imf.2013.38164>
- [5] P. Catarino, Diagonal functions of the k -Pell and k -Pell-Lucas polynomials and some identities, *Acta Mathematica Universitatis Comenianae* **87**(01) (2018), 147–159. <http://www.iam.fmph.uniba.sk/amuc/ojs/index.php/amuc/article/view/641/577>
- [6] P. Catarino, H. Campos and P. Vasco, A note on k -Pell, k -Pell-Lucas and Modified k -Pell numbers with arithmetic indexes, *Acta Mathematica Universitatis Comenianae* **89**(01) (2019), 97–107. <http://www.iam.fmph.uniba.sk/amuc/ojs/index.php/amuc/article/view/1027/782>
- [7] P. Catarino, On Generating Matrices of the k -Pell, k -Pell-Lucas and Modified k -Pell Sequences, *Pure Mathematical Sciences* **3**(02) (2014), 71–77. <http://dx.doi.org/10.12988/pms.2014.411>
- [8] P. Catarino and P. Vasco, Modified k -Pell sequence: Some identities and ordinary generating function, *Appl. Math. Sci.* **7**(121) (2014), 6031–6037. <http://dx.doi.org/10.12988/ams.2013.39513>
- [9] P. Catarino and H. Campos, Incomplete k -Pell, k -Pell-Lucas and modified k -Pell numbers, *Hacettepe Journal of Mathematics and Statistics* **46**(3) (2017), 361–372. <https://dergipark.org.tr/tr/download/article-file/518228>
- [10] A. Dasdemir, On the Pell, Pell-Lucas and modified Pell numbers by matrix method, *Applied Mathematical Sciences* **5**(64) (2011), 3173–3181. <http://users.dimi.uniud.it/~giacomo.dellariccia/Table%20of%20contents/Dasdemir2011.pdf>
- [11] B. Faye and F. Luca, Pell and Pell-Lucas numbers with only one distinct digit, *Annales Mathematicae et Informaticae* **45**(2016), 55–60. https://publikacio.uni-eszterhazy.hu/3273/1/AMI_45_from55to60.pdf
- [12] A. D. Godase, Binomial sums with k -Jacobsthal and k -Jacobsthal-Lucas numbers, *Notes on Number Theory and Discrete Mathematics* **28**(3)(2022), 466–476. <https://doi.org/10.7546/nntdm.2022.28.3.466-476>
- [13] A. F. Horadam and P. Filipponi, Real Pell and Pell-Lucas numbers with real subscripts, *The Fibonacci Quarterly* **33**(05) (1995), 398–406. <https://www.fq.math.ca/Scanned/33-5/horadam.pdf>
- [14] T. Koshy, *Pell and Pell-Lucas numbers with applications*, New York, Springer, **431**, (2014). <http://dx.doi.org/10.1007/978-1-4614-8489-9>
- [15] A. A. Wani, S. A. Bhat and G.P.S. Rathore, Fibonacci-Like sequence associated with k -Pell, k -Pell-Lucas and Modified k -Pell sequences, *Journal of Applied Mathematics and Computational Mechanics* **16**(2)(2017), 159–171. <http://dx.doi.org/10.17512/jamcm.2017.2.13>
- [16] Z. Zhang, Some Identities Involving Generalized Second-order Integer Sequences, *The Fibonacci Quarterly*, **35**(3) (1997), 265–267. <https://www.fq.math.ca/Scanned/35-3/zhang-wenpeng.pdf>

Contribution of Individual Authors to the Creation of a Scientific Article (Ghostwriting Policy)

The author contributed in the present research, at all stages from the formulation of the problem to the final findings and solution.

Sources of Funding for Research Presented in a Scientific Article or Scientific Article Itself

No funding was received for conducting this study.

Conflict of Interest

The author has no conflict of interest to declare that is relevant to the content of this article.

Creative Commons Attribution License 4.0 (Attribution 4.0 International, CC BY 4.0)

This article is published under the terms of the Creative Commons Attribution License 4.0

https://creativecommons.org/licenses/by/4.0/deed.en_US